TemBreak TemBreak @ TERASA

Innovators in Protection Technology

/—;;—ij—ﬁ
RiRASE

Instruction Manual for
Moulded Case Circuit
Breakers

®3X (Types)

+ BEW (Fix Types)
S50-SF  S125-SF
E160-SF  S160-SCF
S160-SF
wAAEER
(Adjustable Thermal Magnetic Types)
E160-SJ S160-SCJ
S$160-SJ

AAYFT4RAARI A
RS
Instruction Manual for
Switch Disconnector
EX (Types)
S125-SN  S160-SN

AP, FERICEZADBF L TANCREL TTFEV AFISRANTOEVEER,
RUFBES1BRNMNCL->TELBREICHAL T BB —BRELEAVE A,

Please retain this manual for future reference. The Manufacturer assumes no
responsibility for damages resulting from non-application or incorrect application of the
instructions provided herein.

FlESERA\S
T547-0002
ABRATFEF X HNER6-13-47
TEL 06-6791-2756

FAX 06-6791-2732
http://www.terasaki.co.jp

TERASAKI ELECTRIC CO,, LTD.

6-13-47 Kamihigashi, Hiranoku, Osaka
547-0002, Japan

TEL +81-6-6791-2763
FAX +81-6-6791-2732
http://www.terasaki.co.jp

kiki-info @terasaki.co.jp int-sales @terasaki.co.jp

2G1631SAA (KRB-0602¢)

&2t lEFE
L (5, (257 - SR BIIC, BT A BEZOMON B EEERFAHES B OMH, 2O
] ROEEEEDRTICERLTHSEIURNTEW, COBRHHETE L EREED
Fo0% fEbE), DERIEL TR AL THDET
CHURWE S IS A, R IRAED 2 T R T E L B5%E 2 5 RN
BEINZHE.
WA S B A, BRARRARIZ T, FREVBELBEEZTD
TN BRI N DB A,
| [AEE] CESULEEETS KR &> TREABBRICED DUSANBET .,
WFhb EBRRETT D THTTF>T TS,
WET EDEE ELICLERSBOMMTEIEAIOSEBBLTTE.)
MNGEE
OESTH HENRE (BEIEL) MMToTTEN,
OSE %R BENER BREAR KD, FEACEFEBECEBELANTTIN,
KK DEEE10, ERICBIELENSZNDBOET
Q@I OVV -, $kBREDEYRUOMAKBRENTL—ARIICASRWNLSIT
BTUTTFEW, XK DEEEA D, REHEDRZNABOET
@ T 1Els, HiTL—h1E%0 (OFF) 1oL, FEBL TUVRNZEEREEL T > T FEL,
BEORZNNBIET,
Q4B TL—HDBE, B4R D RERIBINBICEHL T TN BERT
BIEETICA K DRELHDET
@ FRUIMEER N LY THREICHAIT TSV AKDEREBDET,
@ FRUDFIHIH RO i TSR .
MOSENESIELTTEW S FEHADBARIGA, iy
KEDEENHLHDET
@XM TL—HERADEEAER I, T —HIEE
FTETBRLTTIW, il F/\U P A RAIESh TWSI5&IER I EAL, EFT—7%T
T/ T EERBETIRL T TEW, T+ EREHET 36T BDET,
@ 7 — U HAFEH OIEIESHIRNT T —7 ANR—R (HefxaEt) Z#+ D HRL T TSV, BT
ERVNSANBIET,

BEALOEE
A fERg
T AN BN T TN BBOBZNDBDET
A ER

OE BMIchUvT (GERT) LI5EIE, REZERDERVWTMS/\VR)L%Z | (ON)IZLT
TEW, REBR ERER) 2BEMLIISEIE, TL—NemBRUTTEW, XKD
BENDBDET,

BRT - SR EDER

NEE
O SN BPIMBEETHANT>TTEN,
ORF -SRI, LT~ 1B%EO (OFF) 12U, U TWARN ZEERERL THT > T T,
BBOBZNABOET .
@5 FHalld, EHIMICEER L THLENLTTEN, KK DRRLENET

BZDhDER

F (IBERBED RN ReR> THSEVLRVT TSV, MED RELBHET,

+ TL—NDOFEDDN—FRIBNTTEN, HEe REZRIECEHE A,

FTL—AICERY 2ERP R ERBRICELCHEBROLDZEEALTTEN,
EEN NSV RESERBADEZNHHDET,

[1] Safety Notices

Be sure to read these Instructions and other associated documents accompanying the|
product thoroughly to be familiarize yourself with the product handling, safety information, and
all other precautions before mounting, using, servicing, or inspecting the product. In these
Instructions, safety notices are divided into "Warning" and "Caution" according to the hazard
level:

: A warning notice with this symbol indicates that neglecting the suggested
procedure or practice could result in lethal or serious personal injury.

: A caution notice with this symbol indicates that neglecting the suggested
procedure or practice could result in moderate or slight personal injury and/or property damage.
Note that failing to observe notices could result in serious results in some cases.
Because safety notices contain important information, be sure to read and observe them.

HEMounting Precautions
(For detailed mounting dimensions, refer to the main catalogue.)

A\ Caution

@Electrical work should only be undertaken by suitably qualified persons.

@ Do not place the product in an area that is subject to high temperature, high humidity,
excessive dusty air, corrosive gas, strong vibration and shock, or other unusual
conditions. Mounting in such areas could cause a fire or malfunction.

@Be careful to prevent foreign objects (debris, concrete powder, iron powder, etc.) and
rainwater from entering product. These materials inside the product could cause a fire
or malfunction.

@ Prior to commencing any work on the product, open an upstream circuit breaker or isolator to
ensure that no voltage is applied to the product. Otherwise, electrical shock may result.

@For 4-pole breakers, be sure to connect a neutral conductor to the N pole. Otherwise, an
over-current may hinder the product from tripping, thus resulting in a fire.

@When connecting cable or busbar to the product, tighten terminal screws to the torque
specified in this manual. Otherwise, a fire could result.

@Even when tightening the terminal screws and
after conductor connection, do not apply excessive e
force to the terminals. Otherwise, a fire may result.

@For front-connected breakers, Insulate all bare
conductors of the line side until the breaker end. If interpole barriers are packed, be
sure to use the barriers; moreover, insulate all bare conductors by insulating tape or the
like so that the tape overlaps with the barriers. Insufficient insulation may result in short-
circuit.

@Do not block the arc gas vents of the product to ensure adequate arc space. Blocking
these vents could result in failure of circuit interruption.

B Handling Precautions

/A\Warning

@Never touch terminals. Otherwise, electric shock may result.

A\ Caution

@When the breaker trips open automatically, remove the cause, then return the
handle to the | (ON) position. Should a fault be interrupted, the breaker must be
inspected. Otherwise, a fire may result.

EMaintenance Precautions

A\ Caution

@Service and/or inspection of the product must be done by persons having expert
knowledge.

@Before servicing or inspecting the product, open an upstream circuit breaker or the
like to isolate all sources of power. Otherwise, electric shock may result.

@Regularly check that the breaker terminal screws are tightened to torque values
shown within this manual, failure to do so may result in fire.

HOther Precautions

- Do not carry this product by accessory leads, as this may cause damage to the
product.

+ Unauthorised opening of the breaker cover will invalidate product warranty.

- When installing the product, use wires or conductors, the cross sectional areas of
which accommodate the rated current of the product. Using wires or conductors with
inadequate cross sectional areas may cause false tripping and overheat.

NEY—&,/ VELHEBHTE Packaged ltems / Assembly Tools

TL—# .

Breaker ' RSB E
(&)
297 Instruction Manual: 1
TARARTE his d
Switch (This document)
Disconnector 2T (FCOH)
¢ Interpole Barrier
. . (Only FC)
2P: 1
3P: 2
4P: 3
v s = Type
?ok:égﬁs/ 50AF, 125AF, 160AF
Poles ¥ JiShg el B U
Qty Mounting screw Qty Connecting screw
2P 2 2P 4
) #| 2 | Maxet P 6 |15-50A |M5x14 @
REVEO) p s & w8
Connection | 2P| 2 2P| 4 s
P2 | Maxel ®| 6 |60-160A [Max14 QP
w2 M P 8 -
ZAEfRC) [ 2P| 2 2P| 4 [15~50A [M6x22
Rear 3] 2 | M4x6l M ® 6 W
Connection [4p| 2 w8 60~160A | M8x23
Eafew [ 2P| 2
Plug-in 3P| 2 | M4x75 @M -
Connection | 4P 2
=) 2P| 4 2P| 4 [15-50A |M6x22
FushPete || 4 | M5x16 W ¥ 6 @W
Where Applicable| 4P | 4 60~160A | M8x23

D

« 2y FF4X227%2S125-SN, S160-SNIF3P, 4APRDHELNET
- $125-SN, S160-SN of Switch Disconnector are only 3P and 4P.

#1ELE1E Operating Instructions

TRIPPED

Wity

P

KNIy TRE Y
Trip Button

(OFF) K‘
\
RESET
B N\VRIVERIER
Operation Operation effort

O(OFF) =] (ON) 441N
| (ON)= O (OFF) 372N
TRIP= O (OFF) 784N

[4] NERFHBRDERR  Fitting Internal Accessories |2 Pole

##HBIZ1yF  Auxiliary Switch
T2AX00L

FHAMYF  Alarm Switch
*
T2ALOOL H

BESISL TREBESISL
Shunt Trip Undervoltage Trip

TesHool| | Teuvool’| |

*fTBRROEELS
** Symbols of Accessories

#HAA+E  Combination

2 pole

1(ON)

i)

1(ON) O(OFF)
111

O(OFF)
11

1(ON)
Ty
n
O(OFF)
1

HBNZA v F 1D (F/:1320) BT B85S,
ERIDSIEEICET T,

In case of fitting one (or two) auxiliary
switch, fit in an order from a left sideslot.

- [FBSREH IR, DT ERICEET 22 LeBL LS, JERATEN,
+ After fitting, verify the function of the Accessory.

EIRE| & H UEBOALEE  Pull Out Leads on Load Side

\)>%<—7% Ring Mark
BN ZA Y F B2y F
Auxiliary Switch Alarm Switch

ajEs biEm | alEm | blER
a contact b contact |acontact| b contact

11/AXc-14/AXa | 11/AXc-12/AXb | ST/ALc | 9T/ALe
21/AXc-24/AXa | 21/AXC-22/AXb | 94/ALa | 92/ALb

EEIMLEE | TEEEINLER
Shunt Trip Undervoltage Trip
power source power source
C1-C2 D1-D2

W4 L Removal




MERMTBRDER  Fitting Internal Accessories

3-4 Pole

#HA#E&+€  Combination

| (ON)
it [l
i [0
S =]
O(OFF)
L1
LU
| (ON)
& it = gy’
<]
1
ouLon
O(oFF) AX @ @10
NN AL ®0
IR Ty FE1D ($7:320) T B15E, SH (8] [4ct
RIS IEFICIFIF TS, Uv L
In case of fiting one (or two) auxiliary
switch, fit in an order from a left sideslot.

- BRI BT IERICEFT 2L ZMBL TS, SEATEW,

« After fitting, verify the function of the Accessory.

| MBIATyF  Auwxliary Switch |
*
T2AX00L
> <—% Ring Mark
EHAAYF  Alarm Switch BHA Y F BHI( o F
Augxiliary Switch Alarm Switch
T2ALOOL aEA | bEA | alA | DER
a contact b contact | acontact| b contact
11/AXc-14/AXa | 11/AXc-12/AXb 91/ALc | 91/ALc
BE5I5L TREESISL 21/AXc-24/AXa | 21/AXc22AXD | - -
Shunt Trip Undervoltage Trip 31/AXC-3UAXa | 31AXC-32AXD 94/ALa | 92/ALb
* *
TasHooL || T2uvooL || RN LER | ARREINLER
Shunt Trip Undervoltage Trip
*HEROEDE power source power source
* Symbols of Accessories c1-C2 D1-D2

TAR5 | Z H LEDMIE  Pull Out Leads on Load Side

4L Removal

(6] RMFEITERE KEF
Breaker Mounting Procedure
for FC

M4x61
A
I 13~ 1.7Nm

DNL—ILT7H T4
(FFvav)
DIN Rail Adaptor (Optional)
3-4 Pole

© U\g@ 1

M5x16
3.6 ~4.4Nm

AMEEFTESE AR Breaker Mounting Procedure for FP

(o] AKIMTER EAR

Breaker Mounting Procedure for PM

AT E
Plug-in Base

T2PM12L %
*:20r 3 (154 Poles)

| 2G1631SAA (KRB-0602e)

BAERER XA - EAR

Conductor Connection Procedure for RC/F.P (Where Applicable)

M AR OREEE(/—E1—XTL—HDH)
Adjustment procedure for adjustable Thermal Magnetic Types
(For Moulded Case Circuit Breaker)

=
= =
g
-
o ® REASVF
@ﬂ\ Fia bar stud
@/ \1§ 15-50A | T2RPOSL %S
E —F
6 60~160A | T2RP12L %S 29
-
= = k3 or4 (153 Poles) @ @
§ = ?
O M5x14 M6x22
15508 55~ 28Nm 27~45Nm
@ Mmo6x18 M8x23
801608 g 18 Nm -1 6 - 186 hm

BiAERESE fAEk
Conductor Connection Procedure for FC m
L

M5 x 14
G 16,gmm 18-50A 53 34Nm
H mm M8 x 14
J 16,5 mm 60~ 160A 9 5o Nm
K 9 mm M8 x30
I!\_/I - 5mm 71.8 - 18.6 Nm
mm max . \ 3 g
CERAIOPEAREIL, T —HIHEETL TRELTTE, M6
-Insulate all bare conductors of the line side until the breaker end. 6~8Nm

(E160-SJ, $160-SJ, S160-SCJ, S160-SNDH &)
(for E160-SJ, $160-SJ, $160-SCJ, $160-SN) |

mf/\—

Flat Bar
T2FB12L* S
T2FB16L %W

P s 3 or 4 (flB#K Poles)

SEFNY TR ER
Interpole Barrier
Mounting Procedure

e A \mheﬁ}po\e Barrier
T2BA16L* S
*:2,3or4 (% Poles)

+ AU IS DFEFIETITVET o
* When removing, remove the items in
reverse order of mounting.

WFAN—IERE
Terminal Cover
Mounting Procedure

&
Connection

HFAIN—
Terminal Cover

EE% | TooRioL %S |
B T2CR12L%S

R HFNIN—
Connection Terminal Cover

| =@m ® | ToCF12L % SL

FC(Long Tvpe) | TooF1 6L s SL
T2CF12L % SS
T2CF16L*SS
%:2, 3 or 4 (% Poles)

REM (ML)
FC (Short Type)

+ AU IEEASF O EFIETITVES o
* When removing, remove the items in
reverse order of mounting.

5N RIVRIVY /By Y BIFTERE
Handle Holder / Lock Mounting Procedure

J\UNL
Handle

(ON)

NYRILRILE /Oy
Handle Holder/Lock
T2HH25L/

T2HL25L

< N\YRILAILE/ Ty 2iE, | (ON),O (OFF) fiBDOWITNTEHEH I TEET,

+ Handle holder/ lock can be fitted in any position of (ON) and O (OFF).
< N\YRLOYEUTERT25EIE 0D FIECERIREZIHI T TSN,

+ When you use this item as the handle lock, please fit padlocks in the procedure of @

+ A VBT OFEFIETITVET o
* When removing, remove the items in reverse order of mounting.




